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P (x) =  P (x  ∣x  , … ,x ).
t
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z = tanh(W  ∗f x) ⊙ σ(W  ∗g x).
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h

z = tanh(W  ∗f x+ V  h) ⊙f σ(W  ∗g x+ V  h).g

h

y = f(h)

z = tanh(W  ∗f x+ V  ∗f y) ⊙ σ(W  ∗g x+ V  ∗g y).
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FFN(x;W  ,W  )1 2

max(0,x) max(0,xW  )W  1 2

xΦ(x) GELU(xW  )W  1 2

xσ(x) Swish(xW  )W  1 2

FFN(x;W ,V ,W  )2

σ(xW + b) ⊙ (xV + c) (σ(xW ) ⊙ xV )W  2

max(0,xW + b) ⊙ (xV + c) (max(0,xW ) ⊙ xV )W  2

GELU(xW + b) ⊙ (xV + c) (GELU(xW ) ⊙ xV )W  2

Swish(xW + b) ⊙ (xV + c) (Swish(xW ) ⊙ xV )W  2
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x ∼  π  Logistic(μ  , s  ).
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H(P  )S = E   − log p  (x  ∣z  )z∼Logistic(0,1) [
t=1

∑
T

S t <t ]
= E   log s(z  , θ) + 2T .z∼Logistic(0,1) [

t=1

∑
T

<t ]
x



H(P  ,P  )S T P  S

=H(P  ,P  )S T  −P  (x) logP  (x)∫
x

S T

=   −P  (x) logP  (x  ∣x  )
t=1

∑
T

∫
x

S T t <t

=   −P  (x  )P  (x  ∣x  )P  (x  ∣x  ) logP  (x  ∣x  )
t=1

∑
T

∫
x

S <t S t <t S >t ≤t T t <t

=  E  [  −P  (x  ∣x  ) logP (x ∣x ) ]
t=1

∑
T

P (x )S <t ∫
x  t

S t <t T t <t

1

 P  (x  ∣x  )∫
x  >t

S >t ≤t

=  E  H(P  (x  ∣x  ),P  (x  ∣x  )).
t=1

∑
T

P (x )S <t S t <t T t <t
I taketoodporiderjednottingm

easonymhidium



H(P  ,P  ) =S T  E H(P  (x  ∣x  ),P  (x  ∣x  ))
t=1

∑
T

P  (x  )S <t S t <t T t <t

H(P  ,P  )S T

x P  S μ , stot tot

P  (x  ∣x  )T t <t

H(P  (x  ∣x  ),P  (x  ∣x  ))S t <t T t <t x  t

P  (x  ∣x  )S t <t







(x, c)
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 STFT(g(z, c)) − STFT(x)  .
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γ = 0.3
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α  = Attend(s  ,h),i i−1

α  = softmax (v tanh(V h  +Ws  + b)),ij
⊤

j i−1

 α̂i

α  =i Attend(s  ,h,  ).i−1 α̂i−1

F

α  =ij softmax (v tanh(V h  +⊤
j Ws  +i−1 (F ∗  )  +α̂i−1 j b)),gone
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https://google.github.io/tacotron/publications/tacotron2/
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P (s  ∣x  ; θ).i t

L(θ;X, s) =def
  P (c  ∣x  ; θ).
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